

Vendor Ranking Page: 1

Call Order: 001 Contract ID: 1326851 Counties: MINGO

Letting Date: October 22, 2013 10:00 AM District(s): 10302

**Contract Time:** 12/16/13 COMPLETION DATE

Contract Description: KING COAL HIGHWAY BASE Project(s): ACNH-0052(305)D

Rank		Vendor ID/Name	Total Bid	Percent Of Low Bid
1	55-0570769	WEST VIRGINIA PAVING, INC.	\$700,620.47	100.00%



## **Tabulation of Bids**

of Bids Page: 1

Contract ID: 1326851 Counties: MINGO
Letting Date: October 22, 2013 District(s): 10302

Call Order: 001 Project(s): ACNH-0052(305)D

Contract Time: 12/16/13 COMPLETION DATE

	lo / Item ID Description		(1) WEST VIRO					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	REPAIR BASE	FAILURE	Cat Al	t Set:	Cat A	It Member:	
0005	204001-000	(1)	63,200.00000	63,200.00				
MOBILIZ	ZATION	LS						
0010	307001-000	713.000	110.00000	78,430.00				
	GATE BASE COURSE CLASS 10	, CY						
0015	408002-001	362.000	2.50000	905.00				
BITUMIN	NOUS MATERIAL	GA						
0020	415005-001	400.000	70.00000	28,000.00				
REMOVI SURFAC	E EXISTING PAVEMEI CE	NT SY						
0025	503001-001	852.000	7.50000	6,390.00				
SEALING	G JOINTS AND CRAC	KS LF						

Page: 2



## Tabulation of Bids

Contract ID:1326851Counties:MINGOLetting Date:October 22, 2013District(s):10302

Call Order: 001 Project(s): ACNH-0052(305)D

Contract Time: 12/16/13 COMPLETION DATE

	lo / Item ID Description		(1) WEST VIRG					
Alt Se	t / Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	REPAIR BASE	FAILURE	Cat Al	t Set:	Cat A	It Member:	
0030	607009-001	300.000	35.00000	10,500.00				
TYPE 1 AND RE	GUARDRAIL REMOVED SET	LF						
0035	607065-002	2.000	900.00000	1,800.00				
FLARED AND RE	END TERMINAL, REMO SET	VE EA						
0040	636011-001	9,620.000	1.80000	17,316.00				
TRAFFIC	C CONTROL DEVICE	UN						
0045	636014-001	240.000	60.00000	14,400.00				
FLAGGE	ER .	HR						
0050	663001-004	6,174.000	0.33000	2,037.42				
EDGE L	NE, TYPE II - 4 IN WHITE	E LF						
0055	663001-005	6,810.000	0.33000	2,247.30				
EDGE L	NE, TYPE II - 4 IN YELLO	DW MI						

Page:



## **Tabulation of Bids**

Counties: MINGO

Contract ID: 1326851 Letting Date: October 22, 2013 **District(s):** 10302

Call Order: 001 Project(s): ACNH-0052(305)D

Contract Time: 12/16/13 COMPLETION DATE

Line No / Item ID Item Description			(1) WEST VIRG					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0001	REPAIR BASE	FAILURE	Cat Al	t Set:	Cat A	Alt Member:	
0060	663007-010	400.000	12.00000	4,800.00				
STRIPE,	TYPE V - 12 IN 12 IN	CH LF						
0065	663012-208	160.000	31.00000	4,960.00				
RAISED TYPE P-	PAVEMENT MARKER 2	R, EA						
0070	664002-001	6,174.000	1.40000	8,643.60				
EDGE LI ASPHAL	NE RUMBLE STRIP, T	LF						
0075	401001-050	1,217.000	105.00000	127,785.00				
SUPERPAVE HMA BASE CRSE, TN SG, TY 37.5								
AA	1							



# Tabulation of Bids Page: 4

Contract ID:1326851Counties:MINGOLetting Date:October 22, 2013District(s):10302

Call Order: 001 Project(s): ACNH-0052(305)D

Contract Time: 12/16/13 COMPLETION DATE

	o / Item ID escription			GINIA PAVING, C.				
Alt Set	/ Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	REPAIR BASE	FAILURE	Cat Al	t Set:	Cat A	Alt Member:	
0800	401001-051	1,156.150						
SUPERPA TY 37.5	AVE HMA BASE CRSE,	S, TN						
AA	2							
0085	401001-055	1,217.000						
SUPERPA SG, TY 37	AVE WMA BASE CRSE, 7.5	TN						
AA	3							
0090	401001-056	1,156.150						
SUPERPA TY 37.5	AVE WMA BASE CRSE,	S, TN						
AA	4							

Page:



## **Tabulation of Bids**

Counties: MINGO

Contract ID: 1326851 Letting Date: October 22, 2013 **District(s):** 10302

Call Order: 001 Project(s): ACNH-0052(305)D

Contract Time: 12/16/13 COMPLETION DATE

Line No / Item ID Item Description			(1) WEST VIRG					
Alt Set	t / Alt Member Qu	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	REPAIR BASE	FAILURE	Cat Al	t Set:	Cat A	Alt Member:	
0095	401003-011	656.000	135.00000	88,560.00				
SUPERP SG	PAVE HMA PCH/LEV CR	SE, TN						
BB	1							
0100	401003-012	623.200						
SUPERP S	PAVE HMA PCH/LEV CR	SE, TN						
BB	2							
0105	401003-014	656.000						
SUPERP SG	PAVE WMA PCH/LEV CF	RSE, TN						
ВВ	3							

Page:



## **Tabulation of Bids**

Counties: MINGO

Contract ID: 1326851 Letting Date: October 22, 2013 **District(s):** 10302

Call Order: 001 Project(s): ACNH-0052(305)D

Contract Time: 12/16/13 COMPLETION DATE

Line No / Item ID Item Description		(1) WEST VIRG						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	REPAIR BASE	FAILURE	Cat Alt	t Set:	Cat A	Alt Member:	
0110	401003-015	623.200						
SUPERP. S	AVE WMA PCH/LEV C	CRSE, TN						
BB	4							
0115	401007-040	332.000	143.00000	47,476.00				
SUPERPA CRSE, SO CC	AVE HMA SCRATCH G, TY 9.5 1	TN						
0120	401007-041	315.400						
SUPERPA CRSE, S, CC	AVE HMA SCRATCH TY 9.5	TN						

Page:



## Tabulation of Bids

Contract ID: 1326851 Counties: MINGO
Letting Date: October 22, 2013 District(s): 10302

Call Order: 001 Project(s): ACNH-0052(305)D

Contract Time: 12/16/13 COMPLETION DATE

	o / Item ID escription			GINIA PAVING, IC.				
Alt Set	/ Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	REPAIR BASE	FAILURE	Cat Alt	t Set:	Cat A	It Member:	
0125	401007-043	332.000						
	AVE WMA SCRATCH G, TY 9.5	TN						
CC	3							
0130	401007-044	315.400						
SUPERP CRSE, S,	AVE WMA SCRATCH , TY 9.5	TN						
CC	4							
0135	402001-045	1,329.000						
SUPERP TY 12.5	AVE HMA SKID PVT, SG	S, TN						
DD	1							

Page:



## **Tabulation of Bids**

Counties: MINGO

Contract ID: 1326851 Letting Date: October 22, 2013 **District(s):** 10302

Call Order: 001 Project(s): ACNH-0052(305)D

Contract Time: 12/16/13 COMPLETION DATE

Contr	act Description:	KING COAL	- HIGHV	VAY BASE					
Line No / Item ID Item Description			(1) WEST VIRG						
Alt Se	t / Alt Member	Quantity an	d Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	REPA	R BASE	FAILURE Cat A		t Set: Cat Alt Member:			
0140	402001-046	1,26	2.550						
SUPERF 12.5	PAVE HMA SKID PV	Γ, S, TY	TN						
DD	2								
0145	402001-060	1,32	9.000						
SUPERF TY 9.5	PAVE WMA SKID PV	T, SG,	TN						
DD	3								
0150	402001-061	1,26	2.550	153.00000	193,170.15				
SUPERF TY 9.5	PAVE WMA SKID PV	T, S,	TN						
DD	4								
Secti	on Totals:				\$700,620.47				
	Со	ntract Totals	<b>,</b>		\$700,620.47				



## **Tabulation of Bids**

Page: 9

Contract ID: 1326851 Counties: MINGO
Letting Date: October 22, 2013 District(s): 10302

Call Order: 001 Project(s): ACNH-0052(305)D

Contract Time: 12/16/13 COMPLETION DATE

Contract Description: KING COAL HIGHWAY BASE

Cost Plus Time Totals \$700,620.47

() indicates item is bid as Lump Sum